AEREBEFE ( :) - (:] 8 R

129

aﬁl%%l’ﬁ‘l?’ﬁz

The Solution of Binomial Diophantine Equation
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Abstract :An elementary proof of the Diophantine equation x

sequence method.
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9] = ( Z) is given by using recursion
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R.K. GuyMBERIEAX BB M. 4w =22
—Lov=2y =3 MEMFROD ThEUTHRE

48u? = v* — 10v* + 57, @
ERFE-ITHEHE EFEBRLEE rank=2,
1995 48 B. M. M. Wegert™ & 2 il Baker & 3% J5 ¥ iE
AT ‘

EE1 FROUEHERHEERE v =
(1,1),(1,3),(3,5), (11,9 F (41,17

BEE 1A KR

EE2 ®r>1,y>3RFEEENAEME
EREE(2,y) =(2,4),(6,6),(21,10).

IEHFEERENITE. F Baker HRFERH T
THRDMERER v < 10797,z < 1059 R )5
RAHENHEEEZEBERTALBREIEQ
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((w* —5)/4) — 3 =— 2, (3)
RE—APell FRBBAMORMBEE FHRT4H
&[3]

1:§+u/?=<y+/?xr+/?m

Chf 3 2 %é&_ n) @)
AEH A R n=—1,0,1,2,3 BH#.
4 rt+yn/3I=0C+ V3 (5)
W4 K&
' = 4z, 4+ 12y, -+ 5. (6)
BHBIETFIXRRRX:
Zotn = Znn T 3YnYns Ymkn = ZnVn T Tadms
)
Ty = Ty Vn === Yy, (8)
Ty = Zh + 3yh = 225 — 1 = 6y. + L.y, =
2%, Y 9

Zprowr = (— Dz, (mod z,) s Vi orr =

(— D*y,(mod z,), (10)
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Zogop 2= T,(mod ¥,) s Yuyor = yu(mod y,), (11)
a2

Yutz = AYutr1 ™ Yus Vo = Oy = 1, a3
B Az, + 1290 =t Wty = 4 Xty — 5% = 4
w = 20.

B, n=0,1,2,3,",u,(mod p) HEK 1
NI cttgstty sty s stp_y 3oty s » (mod p),
R &

W p=17,13,31,37,61,73,79,97,181,193,
223,337,397,421,661,673,757,1201,1321,1567,
2521,3697,6337,489061,549649,1166617.

AV HE (w, +5) (mod p), KA %, 335
H o< n <k, HEAR K Jacobi #5 ((w, + 6)/p)
=—1 KL E.

l:n=5,6(mod 8),

u, = 6,6(mod 7).

2:n=17,8,9,10(mod 12),

u, =11,7,7,11(mod 13).
4,9,10,11,18,20,23,24,26,27 (mod

ZTppr = 4%y — TasZo = 12y = 2,

3in =
32),

w, = 11,13,24,11,22,30,23,23,17,30(mod
3.

4:»=4,5,6,11,12,13,25,26,27,28,23,
30(mod 36),

u, =29,39,6,6,39,29,35,15,15,35,8,
8(mod 37).

5:n=4,6,11,12,17,18,23,25,39,40,49,
50(mod 60),

w, = 28,7,30,37,37,30,7,28,63,59,59,
63(mod 61).

6:n = 24,29(mod 36),

u, = 60,60 (mod 73).

7.n = 9,12,19,25,33,47,48,51,56,57,60,
63,67,71,72,73,76(mod 80),

u, = 43,15,35,71,75,47,6,63,39,70,54,39,
74,6,47,14,37(mod 79).

8:n = 9(mod 16),

u, = 82(mod 97).

9:n=4,5,12,14,15,16,17(nod 20),

u, = 160,160,110,31,31,83,110(mod 181).

10:n=16,17,18(mod 24),

, == 103,102,102 (mod 193).

11:n = 7,8,15,16,17,19,28,31,34,39,40,

44,47,48,51,60,63,64,65,67,71,72,80,81,83,
92,95,96,97,103,104,113,115,124,129,136,144,
159,163,172,176,191,194,199,209,211,220(mod
224),

w, = 24,35,117,195,207,45,118,186,161,
158,157,13,189,67,48,48,67,189,10,13,157,
158,186,150,118,45,195,117,40,35,24,208,167,
151,26,70,95,44,185,185,44,95,52,70,193,151,
167 (mod 223).

12:n = 7,12,15,19,20,31,32,33,36,42,49,
50,52(mod 56),

uw, = 174,291,291,71,174,58,293,93,276,
22,69,93,58(mod 337).

13:n = 14,15,16,36,37,39,52,74,88,107,
109,123,144,145,158,160,181,182,183,216,217,
218,219,232,251,252,254,255,267,290,291,302,
303,323,326,338,339,359,360,361,374,375,
376(mod 396),

u, = 302,380,17,166,356,259,214,198,242,
263,242,198,345,214,259,356,17,380,302,134,
194,235,339,185,62,45,377,199,245,203,18,18,
203,161,245,199,377,241,109,185,339,235,

194 (mod 397).

14:n= 27,28,86,107,121,122,123,168,179,
242,268,303,326,359,361,387(mod 420),
206,209,224,306,111,402,224,168,
156,200,73,298,298,264,73,200(mod 421).

15:7 = 47(mod 60),

u, = 353(mod 661).

16:7 = 48,99,242,279(mod 336),

u, = 316,211,558,328(mod 673).

17.n = 27,72(mod 84),

u, = 242,486 (mod 757).

18:n = 26,98,111(mod 120),

u, = 974,314,941 (mod 1201).

19:n = 22,43,61,79,99,102,122,142,143,
180,199,200,201,203(mod 220),

w, = 584,342,466,252,217,944,560,1133,
664,208,283,862,513,234(mod 1321).

207 = 35,167,168,192,208(mod 224),

u, = 325,1155,1155,903,1206 (mod 1567).

21:n = T(mod 28),

u, = 2164 (mod 2521).

U, =
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22:n=27,28,29,31,83,86,196,199,223,
227,283(mod 308),

u, = 1544,3088,3404,1688,2126,2750,874,
724,2214,3368,733(mod 3697).

23.n = 33,194,226,323(mod 352),

u, = 5004,4733,5045,4558 (mod 6337).

24:n = 38(mod 44),

, = 485110(mod 489061).

25:n == 192(mod 264),

u, = 323782(mod 549649).

26:n == 266(mod 396),

u, = 904805 (mod 1166617).

GrEm, mRW XFH . WBEF~=0,1,2,
3,55439,55440,110879(mod 110880) & n = 0,1,
2,3, — 1(mod 55440);

27:Wm =2+ 2'a(2h + 1),s = 2,

vt =4z, + 12y, + 5= (— D"z, + (—
D#Hy, +5=—14X26—12 X 15+ 5(mod z, 5),
B, 0* =— 71(mod z, ),

v? == 28922 4 2 X 4922,V + 8372 (mod
23‘2‘ + 3}’2”2‘) s
0P =102 4 2 X 4922, 0V, p = 22,00 (5%

492‘ymz")(m0d Zng’ + 31%«2‘)‘»
ot

p= [ 2_) -

zoy + 3yar

2Zaeg 5%, + 492%‘2"

zhy + 3‘3’22‘ 13‘-2’ + 3‘3’5‘2'

5%, £ 492ya.‘2‘) _
2l - 3yl -

( Za2*
\ zly 4+ 3k
{ x

\

2 2
et T Ve

F}
Zae3'

La-2*

3

( 15.2‘ + 33/2.2‘
5Zgyt 1= 492,90

242139 ) _
5%u7 & 492y, 7

52,y & 4:92.}’4:-2‘) _ [ 9%er =+ 4923’wz‘)
242139 80713
LMY BB a=9,15,21,35,45,63,105,
315. & 2 AT 40 b :OR oz
BB a=17,9,15,21,35,45,63,105,
315. A& 3 W4 b R BLAL.
R1 Jacobi HF

492° 4- 3 X 5
SZd.z‘ i 4923/“'2‘

2 — s
1= |2 )= (=11 o 322), 1 3 5 15
Lar' a2 ' . 0. 2z 26° 7 71" 7 -1
Ra=1,3,5,9,15. A3 1 T40 £ AR AL 1. 7 2 26 26° 7 —3
28 @ n=a2"(4h £ 1) +3#3,n=2k+ 3, 2: 267 7 2 2 26 -1
] 3. 2 2% 7t 7 2 =1
E=a-2Uh+1), P P S S S
V' = 4(zpzs + 3yuys) + 12(2uys + z3yn) + 5. 26" 7 2 2 26 —1
5 = 4(26zy + 45y) + 12(15zyu -+ 26yu) + 5 = 6: 2 26 7 7 2 -1
9847y + 492y, + 5 = 284(x - 398) + 2 X 4027,y N Jacobi FE (a/p) =—1.
+ 5(xf — 3y%) = 289z + 2 X 492z, + 837yi,
%2 Jacobi HFE
s 9 15 21 35 45 63 105 315
0: 201733° 20167" 50365 40906 118819 145537 232585 % 71551
1. 182756 78551° 181229 162404 60317 141041" 4271 73697"
2. 94208 223442 179318 216005 16460 216164 225530° 162773
3, 128390* 216263 176522 212288" 75893" 93263" 36002 220328"
524 94208 223442 179318 216005 16460 216164 225530" 162773
525 128390 216263” 176522 212288 75893 " 93263" 36002 220328"
% 275 Jacobi 2 (a/p) =—1, HAEBHS . NEB—1 s =6,...,519 ELF—FIHEF » 5.
%3 Jacobi HE
5 7 9 15 21 35 45 63 105 315
0; 45832° 16249 84889 48196 109717° 88360" 2275 185194  195808"
1: 71048" 12077*  225509° 40136° 46202 61742° 89735 175919° 12998
2 94649 52865" 54950*  221570°  165122° 191459 134357" 20117 85049
3, 116300 103403°  112625° 239750 186497 219503°  199445" 197522° 137057
524, 94649 52865 " 54950"  221570"  165122° 191459 134357 20117 85049
525, 116300 103403°  112625* 239750  186497* 219503 199445" 197522  137057"

* 7R Jacobi 5 (a/p) =—1.
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29 n=a2MUr+ D+ 1#1,n=2k+1,
k=a-20h+ 1),

V* = 4(zpzy + 3yuy)) + 12(zay + 21y2) +
5=4Q2xyu + 3yu) + 12(zy + 2yu) + 5= 2024 +
36y, + 5 = 20(a? + 3y%) 4+ 2 X 3624y + 5Cxf —
3y%) = 25z + 2 X 36z + 4594,

08 = 2522 o 2 X 36Z4.p Y - 45905 = 1022
+ 2 X 36Z,.2 Y.y (mod 2k -+ 3354,

V' = 22,5 (5%0g 7 36Yap) (mod zly + 355D
# 4 Jacobi 58

Z}Z
xﬁ-z" + 3.3’3»2‘) - (
5%,y 36%-2’) — ( 1§~z’ + 33‘5'2' ) _
Zz s+ 3)’3 2 52,5 =+ 36Ya.2°
(36° + 3. 52)y5.zf) _ {s‘za.zs + 36ya.2»)
5%4z & 36020 1371 ’
Ba=1,3,15,35,45. W& 4 T 5 X AR
30:#n=a2M4h + 1) —1# 1,n=2k—1,

k=a+22(4h £ 1),

Zxa-z“(waz“‘ + 36}’«-2‘)) _
zhy + 3yiy

s 1 3 15 35 45 1 3 15 35 45
0: 46" 670" 631 1033 469 1345" 961 499 772" 1147
1: 539 236 1148 245 941" 902~ 935" 587" 125 86
2: 920" 749" 347" 746" 1052 50" 386 1190 575 395
3: 536" 503 149 398 1175* 1178 755 965" 92 1067~
20: 920" 749" 347" 746" 1052 50" 386 1190 575 395
21 536" 503 149 398 1175* 1178 755 965" 92 1067

% F R Jacobl BB (a/p) =— 1.

v = 4(zpzoy + Syay-)) + 12Gzwy-1) +
12Cxay—1 + 2192) + 5= 4(2zxu — 3yu) + 12(—
Zoe F 2yu) + 5 =— day + 12y + 5 =— 4(af +
3y8) + 2 X 1224y, + 5(af — 39§) = 2} + 2 X 12z,
— 275,

V== 2ty o 2 X 12%0p ey — 270y = 10205 &
2 X 12Z,.5 Y0 (mod 2k, + 3325,
£S5 Jacohi HE

02 = 22,0 (5200 o 129,p) (mod 225 4 335.2) 5
1= ( v J _ (Zx,,.zs(Sxa.z‘ + 12ya.z‘)) _
2hy + 3yiy Thy + 33’3”2’
5%, = 12Yap _ 12-2‘ + 33’2-2‘ _
xhy + 3yiy ) - 5%, 12.)’4“2') a
12* + 3. 52)yf~z‘J _ [ 5%y = 12y4.2-«)
5%z £ 12Y0r 219 ’
Ba=1,3,15,35,45. A3 5 A ERX AR

s 1 3 15 35 45 1 3 15 35 45
0 22" 91 196 217 214" 217 169 55 22" 151
1: 203" 146 146 86 5 86 5 5 203" 131
2: 8" 146 146 86 98" 86 68 68 8" 131
3 146 68 68 1227 191 122* 146 146 146 38"
20: 8" 146 146 86 98 x 86 68 68 8" 131
21 146 68 68 122" 191 122" 146 146 146 38"

* RN Jacobi 5 (a/p) =—1.

31:n=a- 2" UL E 1) #On=2kk=0a
c2UR 1), 22,

v* = 4(xl + 398 + 2 X 12z, + 5Cxf — 3yD)
= 92} + 2 X 127y — 394,

VP =922 o 2 X 12200 Yaryr — 390y = 1022y &
2 X 122, 5y..r(mod 225 + 332.5),

0 = 22,5 (5% = 12907) (mod 2l p + 3552),

5Z,p T 12Y,0°
219 ’

UZ
1= ‘7512:“2‘ + 3‘)’52') B
MFE 5 WA BRI

G, MR n#-1,0,1,2,3 M) XL
M, MY n=—1,0,1,2,3 BIEMFAHEE 1 HHE.
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